Subject: Re: Syntax mistake?
Posted by Ben Panter on Mon, 09 May 2005 13:34:42 GMT

View Forum Message <> Reply to Message

wmc@bas.ac.uk wrote:

> Ben Panter <me@privacy.net> wrote:

>

>> AGE_VAL DOUBLE = Array[25]

>

>

>> scaled_age[loc]=interpol(findgen(age_val),alogl0(age_val),al og10(a_trace[loc]))
>> 0% Arrays are allowed 1 - 8 dimensions.

>> 0% Execution halted at: SMAINS

>

>

> |f age_val is a 25 element array, doesn't findgen(age_val) try to generate
> a 25-d array? Do you mean findgen(n_elements(age_val))?

Yeup, thanks...

Ben

Ben Panter, Garching, Germany
email via www.benpanter.co.uk
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